

NAME: OPUTA CLINTON CHUKWUDUBEM

DEPT: AERONAUTICAL ENGINEERING

COURSE: GENERAL MATHEMATICS TII, MAT 104

MATRIC NO: 19/ENGB9/019

find the integral of the following

$$a) \int \frac{3x-1}{(x-1)(x-2)(x-3)} dx$$

solution

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx \quad \text{Resolving } \frac{3x-1}{(x-1)(x-2)(x-3)}$$

into partial fractions.

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A((x-2)(x-3)) + B((x-1)(x-3)) + C((x-1)(x-2))}{(x-1)(x-2)(x-3)}$$

$$\therefore 3x-1 = A(x(x-3)-2(x-3)) + B(x(x-3)-1(x-3)) + C(x(x-2)-1(x-2))$$

$$3x-1 = A(x^2-5x+6) + B(x^2-4x+3) + C(x^2-3x+2)$$

$$3x-1 = Ax^2-5Ax+6A+Bx^2-4Bx+3B+Cx^2+3Cx+2C$$

Collect like terms on the RHS

$$3x-1 = Ax^2+Bx^2+(x^2-5Ax-4Bx-3Cx) + (6A+3B+2C)$$

$$3x-1 = x^2(A+B+C) - x(5A+4B+3C) + (6A+3B+2C)$$

Comparing with LHS

$$\therefore A+B+C = 0 \quad \text{--- (i)}$$

$$-5A-4B-3C = 3 \quad \text{--- (ii)}$$

$$6A+3B+2C = -1 \quad \text{--- (iii)}$$

from (i)

$$A = -B-C \quad \text{--- (iv)}; \text{ Put (iv) into (ii)}$$

$$-5(-B-C)-4B-3C = 3, \therefore 5B+5C-4B-3C = 3,$$

$$\therefore B+2C = 3 \quad \text{--- (v)}; \text{ Put (iv) into (iii)}$$

$$6(-B-C)+3B+2C = -1, \therefore -6B-6C+3B+2C = -1$$

$$-3B-4C = -1, \therefore 3B+4C = 1 \quad \text{--- (vi)}$$

from (v) from (vi)

$$B+2C = 3, \therefore B = 3-2C \quad \text{--- (vii)}; \text{ Put (vii) into (vi)}$$

$$\therefore 3B + 4C = 1, \quad 3(3 - 2C) + 4C = 1$$

$$9 - 6C + 4C = 1, \quad 9 - 2C = 1$$

$$2C = 9 - 1, \quad \frac{2C}{2} = \frac{8}{2} \quad \therefore C = \underline{4}$$

Put C into (v) to get B

$$\therefore B + 2C = 3, \quad B + 8 = 3, \quad B = 3 - 8 = \underline{-5}$$

from (i) $\therefore A + B + C = 0$

$$\therefore A - 5 + 4 = 0, \quad A - 1 = 0 \quad \therefore A = \underline{1}$$

$$\therefore A = 1, \quad B = -5, \quad \text{and } C = 4$$

$$\therefore \frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{1}{(x-1)} - \frac{5}{(x-2)} + \frac{4}{(x-3)}$$

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} = \int \frac{1}{(x-1)} + \int \frac{-5}{(x-2)} + \int \frac{4}{(x-3)}$$

$$= \int \frac{1}{(x-1)} - 5 \int \frac{1}{(x-2)} + 4 \int \frac{1}{(x-3)}$$

$$\therefore \int \frac{3x-1}{(x-1)(x-2)(x-3)} = \ln|x-1| - 5 \ln|x-2| + 4 \ln|x-3| + C$$

ans

$$b) \frac{x^2 + x + 1}{(x+2)(x^2+1)} \int x$$

solution

$$\int \frac{x^2 + x + 1}{(x+2)(x^2+1)} \int x$$

$$\therefore \frac{x^2 + x + 1}{(x+2)(x^2+1)} = \frac{A}{(x+2)} + \frac{Bx+C}{(x^2+1)}, \text{ simplifying}$$

$$\frac{x^2 + x + 1}{(x+2)(x^2+1)} = \frac{A(x^2+1) + (Bx+C)(x+2)}{(x+2)(x^2+1)}$$

$$\therefore x^2 + x + 1 = Ax^2 + A + Bx(x+2) + x(x+2)$$

$$x^2 + x + 1 = Ax^2 + A + Bx^2 + 2Bx + (x+2C)$$

$$x^2 + x + 1 = Ax^2 + Bx^2 + 2Bx + (x + A + 2C)$$

$$x^2 + x + 1 = x^2(A+B) + x(2B+1) + (A+2C)$$

$$\therefore A+B=1 \text{ --- (i)}, 2B+1=1 \text{ --- (ii)}, A+2C=1 \text{ --- (iii)}$$

$$A=1-B, \text{ but } A=1-2C \text{ i.e. from (i) + (iii)}$$

$$\therefore 1-B=1-2C, 1-1-B+2C=0, 2C-B=0$$

$$\therefore B=2C. \text{ put } 2C \text{ into eqn (ii)}$$

$$\therefore 2B + C = 1; 2(2C) + C = 1, 4C + C = 1, 5C = 1$$

$$\therefore C = \frac{1}{5} \text{ from (ii), } 2B + C = 1, 2B + \frac{1}{5} = 1$$

$$2B = 1 - \frac{1}{5}, 2B = \frac{4}{5} \div 2, B = \frac{2}{5}$$

$$\therefore A + B = 1, A + \frac{2}{5} = 1, A = 1 - \frac{2}{5} = \frac{3}{5}$$

$$\therefore A = \frac{3}{5}, B = \frac{2}{5}, C = \frac{1}{5}$$

$$\therefore \frac{x^2 + x + 1}{(x+2)(x^2+1)} = \frac{\frac{3}{5}}{(x+2)} + \frac{\frac{2}{5}x + \frac{1}{5}}{(x^2+1)}$$

$$= \frac{3}{5} \left(\frac{1}{x+2} \right) + \frac{1}{5} \left(\frac{2x+1}{x^2+1} \right)$$

$$= \frac{1}{5} \left[\left(\frac{3}{x+2} \right) + \left(\frac{2x+1}{x^2+1} \right) \right]$$

$$\int \frac{x^2 + x + 1}{(x+2)(x^2+1)} dx = \frac{1}{5} \left[\int \frac{3}{x+2} dx + \int \frac{2x+1}{x^2+1} dx \right]$$

$$= \frac{1}{5} \left[3 \int \frac{dx}{x+2} + \int \frac{2x+1}{x^2+1} dx \right]$$

Considering $\int \frac{2x+1}{x^2+1} dx$ we have:

$$\int \frac{2x+1}{x^2+1} dx \quad \therefore x = \tan \theta = \tan \phi$$

$$dx/d\theta = \sec^2 \theta, dx = \sec^2 \theta d\theta$$

$$\therefore x^2 + 1^2 = 1 + \tan^2 \theta + 1^2 + 1(\tan^2 \theta + 1)$$

Substituting, we have!

$$\int \frac{2x+1}{x^2+1^2} = \int \frac{\sec^2 \theta \cdot 2 \tan \theta + 1}{\sec^2 \theta} = \int 2 \tan \theta + \sec^2 \theta$$

$$\text{but } x = \tan \theta,$$

$$\begin{aligned} \therefore \int 2 \tan \theta + \sec^2 \theta &= \int 2 \tan \theta + 1 + \sec^2 \theta \\ &= 2 \int \tan \theta + \int \sec^2 \theta \\ &= 2(-\ln |\cos \theta|) + \theta \end{aligned}$$

$$\therefore -2 \ln |\cos \theta| + \theta \quad \text{but } \theta = \tan^{-1} x$$

$$\therefore = -2 \ln |\cos(\tan^{-1} x)| + \tan^{-1} x, \text{ factorize}$$

$$\tan^{-1} x (-2 \tan \cos + 1) = \tan^{-1} x (1) = \tan^{-1} x$$

$$\therefore \int \frac{x^2 + x + 1}{(x+2)(x^2+1)} dx = \frac{1}{5} \left[3 \ln |x+2| + \tan^{-1} x \right] + C$$

$$(c) \int \frac{x^2 + 1}{(x-3)(x-2)^2} dx$$

$$\int \frac{x^2 + 1}{(x-3)(x-2)^2} dx = ? \quad \text{by resolving to fractions.}$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A(x-2)^2 + B(x-3)(x-2) + C(x-3)}{(x-3)(x-2)^2}$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A[x(x-2)-2(x-2)] + B[x(x-3)-3(x-2)] + C(x-3)}{(x-3)(x-2)^2}$$

$$\therefore x^2+1 = A(x^2-4x+4) + B(x^2-5x+6) + C(x-3)$$

$$x^2+1 = Ax^2-4Ax+4A+Bx^2-5Bx+6B+Cx-3C$$

$$x^2+1 = Ax^2+Bx^2-4Ax-5Bx+Cx+4A+6B-3C$$

$$\therefore x^2+1 = x^2(A+B) - x(4A+5B-C) + (4A+6B-3C)$$

$$\text{Comparing, } A+B=1 \quad \dots (i) \quad -4A-5B+C=0 \quad \dots (ii)$$

$$4A+6B-3C=1 \quad \dots (iii) \quad \therefore \text{from (i), } A=1-B \quad \dots (iv)$$

$$\text{Put (iv) into (ii); } -4A-5B+C=0 \quad \dots (v)$$

$$\therefore -4(1-B)-5B+C=0, \quad -4+4B-5B+C=0$$

$$= -4-B+C=0 \quad \dots (vi) \quad \text{put (iv) into (iii)}$$

$$\therefore 4(1-B)+6B-3C=1 = 4-1+2B-3C=0$$

$$= 3+2B-3C=0, \quad \text{from (vi) from (vi) } \therefore -4-B+C=0$$

$$\therefore B = (-4 \dots - (vi)) \text{ put (vi) into } 3 + 2B - 3C = 0$$

$$3 + 2(-4) - 3C = 0, = 3 + 2C - 8 - 3C = 0$$

$$\therefore -5 - C = 0 \therefore C = -5$$

$$\text{from (v), } -4 - B + C = 0$$

$$-4 - B - 5 = 0, -B - 9 = 0, \therefore B = -9$$

$$\text{since } A + B = 1, \therefore A - 9 = 1 \therefore A = 1 + 9 = 10$$

$$\therefore A = 10, B = -9 \text{ and } C = -5$$

$$\frac{x^2 + 1}{(x-3)(x+2)^2} = \frac{10}{(x-3)} - \frac{9}{(x-2)} - \frac{5}{(x-2)^2}$$

$$= \int \frac{x^2 + 1}{(x-3)(x+2)^2} dx = \int \frac{10}{(x-3)} dx - \int \frac{9}{(x-2)} dx - \int \frac{5}{(x-2)^2} dx$$

$$= 10 \int \frac{dx}{x-3} - 9 \int \frac{dx}{x-2} - 5 \int \frac{dx}{(x-2)^2}$$

$$= 10 \ln(x-3) - 9 \ln(x-2) + 5/(x-2) + C$$

ans.

$$2) \int \frac{(x^5 + x^2 + x + 1)(x-1)}{(x-1)} dx$$

solution

$$\int \frac{x^5 + x^2 + x + 1}{(x-1)} dx = \int \frac{x^5}{x-1} dx + \int \frac{x^2}{x-1} dx + \int \frac{x}{x-1} dx + \int \frac{1}{x-1} dx$$

P.T.O

kur

Using long division, consider the individual expressions

$$\int \frac{x^3}{x-1} dx, \quad \frac{x^3}{x-1} = x^2 + x + 1 \quad (\text{note the signs changed})$$

$$\begin{array}{r} x-1 \overline{) x^3} \\ \underline{-x^3 + x^2} \\ x^2 \\ \underline{-x^2 + x} \\ x \\ \underline{-x + 1} \\ 1 \text{ remainder} \end{array}$$

$$\therefore \frac{x^3}{x-1} = x^2 + x + 1 + \frac{1}{x-1}$$

$$\int \frac{x^3}{x-1} = \int x^2 + x + 1 + \frac{1}{x-1} dx$$

$$\int \frac{x^3}{x-1} = \int x^2 dx + \int x dx + \int 1 dx + \int \frac{1}{x-1} dx$$

$$= \frac{x^3}{3} + \frac{x^2}{2} + x + \ln(x-1) + C$$

$$\int \frac{x^2}{x-1} dx, \quad \frac{x^2}{x-1} = x+1 + \frac{1}{x-1}$$

$$\therefore \frac{x^2}{x-1} = x+1 + \frac{1}{x-1}$$

$$\int \frac{x^2}{x-1} dx = \int \left(x+1 + \frac{1}{x-1} \right) dx$$

$$= \int x+1 dx + \int \frac{3x}{x-1}$$

$$= \int x dx + \int 1 dx + \ln(x-1)$$

$$= \frac{x^2}{2} + x + \ln(x-1) + C$$

$$\int \frac{3x}{x-1} dx, \frac{3x}{x-1} = x-1 \sqrt{\frac{x}{x-1}}$$

= remainder

$$\therefore \frac{3x}{x-1} = 1 + \frac{1}{x-1}, \int \frac{3x}{x-1} dx = \int 1 dx + \int \frac{1}{x-1}$$

$$= x + \ln(x-1) + C$$

$$\int \frac{3x}{x-1} = \ln(x-1) + C$$

combining everything, we have

$$\frac{x^3}{3} + x^2 + x + \ln(x-1) + x^2 + x + \ln(x-1) + x + \ln(x-1)$$

$$+ \ln(x-1), \text{ collect like terms}$$

$$= \frac{x^3}{3} + \frac{x^2}{2} + \frac{x^2}{2} + 3x + 4\ln(x-1)$$

$$= \frac{x^3}{3} + \frac{2x^2}{2} + 3x + 4\ln(x-1)$$

$$= \frac{x^3}{3} + x^2 + 3x + 4\ln(x-1) + C$$

ans.